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1. Answer the following as directed : ~ 1x10=10
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(a) The difference between traditional and
modern logic is not one of kind but of
degrees / qualities / languages.

( Choose the correct option )
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(b) Every compound statement is  truth-
functional. Is it true?
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What is the name of this rule?
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(d) Who is the author of the book,
Prior Analytics?
Prior Analytics 3331 T4 @7

(e) A conjunctive function is true if any one
of the conjuncts is true. Is this statement
correct?
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(f) Shorter truth table method is w.mmn of
?ouo&&o:& logic / predicate logic.
( Choose the correct option )
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(g) Give an example of subjectless proposition.
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(h) Truth or falsity is a property of logic /
proposition / argument.

( Choose the correct option )
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(i) Ideograms directly stand for

( Fill in the blank )
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Are symbolg and signs same?
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3. Answer any

If A and B are true stateme

Y are false statements, thep determine

whether the following is trye or false :
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Mention two similarities between direct
and indirect truth table.
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Symbolize the following statements :
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(i) If it doesn’t rain, then we shall go for
picnic.
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(ii) It is false that Russia has won the
war.
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i tions :
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(a) Write a short 1

ote on the characteristics

of mv\avomo logic.
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(b) Distinguish between general proposition
and class-membership proposition.
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(¢) What is meant by interdefinability among
truth-functions? Explain.
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(d) Distinguish between inclusive and exclusive

sense of disjunctive truth-function.
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(e) State the rujes of inference that are use
for constructing forma] pProof of <mb&aw
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Dis i
. o.cw.m .:.5 points of similarities and
issimilarities between traditional and
modern logic.
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What is logical connective? Give brief
introduction to different kinds of Jogical
connectives used in symbolic logic. 2+8=10
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12 What 18 the role of
g our everyday

What is symbo
2+8=10

symbols ijn translatn

language’

MM:MHM& or invalidity of the following e
arguments : 2+4+4=1
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What is formal proof of validity? What are
the strategies for constructing a formal
proof of validity? Discuss. 2+8=10
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Construct a formal proof of validity for the

foliowing arguments : 5+5=1¢
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